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1. Name thefollowin
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2. Draw structures for the following compounds. [6 + 4 =10 marks]
(a) 4—bromoheptyl'2-ctﬂoro—3-bromopentyl ether

6r

(b) 4-methyl-decane-23-diol
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Making Connections §8 marks) .
3. Why does the hydrogenation of bu-2-tyne with 1.0 mole Sf hydrogen produce two xsomngm .-
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names ot the two isomers. [4 marks]
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5. Which is likelv to have the higher boiling point, dimethylamine or trimethylamine? Explain. [2 marks]
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Inquiry [28 marks[3#> ancin€r (- conperk N
b. Write structural diagram equations to illustrate each of the following reactions. Include all pertinent

conditions. [4+ 4+ 4 =12 marks]
(a) the preparation of an alcohol from a ketone
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(b) the nitration of benzene :
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(c) the preparation of methyl propyl ether
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7. Propose a sequence of reactions to s

. ynthesize ethyl 2-methylbutanoate from an alkene and an alcohol.
Include all pertinent conditions, N

ame all unique organic reactants and products. [16 marks]
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inowledge & Understanding [3 + 29 = 37 marks]

Show the complete polymerization reaction that occurs using the monomer below (show two repeating
units). What type of polymerization have you depicted? [3 marks|
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